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Please check that this question paper contains 8 printed pages.

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 12 questions.

Please write down the Serial Number of the question in the answer-book
before attempting it.

15 minute time has been allotted to read this question paper. The question
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candidates will read the question paper only and will not write any answer on
the answer-book during this period. %*
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General Instructions :

1.

S0

6.

This Question paper contains 4 sections. A, B, C and
D. All Questions are compulsory and to be written in answer sheet
only. (Must write answers to the questions of all sections).

Section A has 1 Question with 5 inner questions. Attempt

all 5 Questions. (10 marks)
Section B has 1 Question with internal choice. Attempt
any one (1) Question. (4 marks)
Section C has 4 Questions with internal choice. Attempt
all 4 Questions. (8 marks)
Section D has 6 Questions with internal choice. Attempt
all 6 Questions. (18 marks)

Read the instruction given in the main question before
writing the answer.
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